

## Some comments on: the Kim-Sukhatme alternative approach to nonrelativistic perturbation theory

This article has been downloaded from IOPscience. Please scroll down to see the full text article.

1993 J. Phys. A: Math. Gen. 26 L515

(<http://iopscience.iop.org/0305-4470/26/12/006>)

View [the table of contents for this issue](#), or go to the [journal homepage](#) for more

Download details:

IP Address: 171.66.16.62

The article was downloaded on 01/06/2010 at 18:44

Please note that [terms and conditions apply](#).

## LETTER TO THE EDITOR

### Some comments on: The Kim-Sukhatme alternative approach to non-relativistic perturbation theory

Harry A Mavromatis

Physics Department, King Fahd University of Petroleum and Minerals, Dhahran 31261, Saudi Arabia

Received 29 January 1993

**Abstract.** The new perturbation theory expressions obtained by Kim and Sukhatme are commented on, and some new results are obtained starting from their expressions.

Recently Kim and Sukhatme [1] obtained some new expressions for ground- and excited-state wavefunctions and energies in perturbation theory, which do not involve infinite sums, and can be thought of as a generalization of LPT [2-5].

Consider a Hamiltonian

$$H = T + V + \lambda h = H_0 + \lambda h$$

where

$$H\Psi_n(x) = E_n\Psi_n(x) = (E_n^{(0)} + \lambda E_n^{(1)} + \lambda^2 E_n^{(2)} + \lambda^3 E_n^{(3)} + \dots)\Psi_n(x).$$

Kim and Sukhatme define  $f_n(x)$  according to the equation  $\Psi_n(x) \equiv f_n(x)\phi_n(x)$ , where the  $\phi_n(x)$ 's are eigenfunctions of the unperturbed Hamiltonian  $H_0$ . Expanding  $f_n(x)$  in powers of  $\lambda$

$$f_n(x) = 1 + \lambda f_n^{(1)}(x) + \lambda^2 f_n^{(2)}(x) + \lambda^3 f_n^{(3)}(x) + \dots \quad (1)$$

and substituting in the Schrödinger equation, these authors obtain

$$f_n^{(1)}(x) = \int^x \frac{dx'}{\phi_n^2(x')} \int_{-\infty}^{x'} \hat{h}(x'')\phi_n^2(x'') dx'' \quad (2)$$

$$E_n^{(2)} = \int_{-\infty}^{\infty} \hat{h}(x)f_n^{(1)}(x)\phi_n^2(x) dx = \langle n | \hat{h} f_n^{(1)} | n \rangle \quad (3)$$

$$f_n^{(2)}(x) = \int^x \frac{dx'}{\phi_n^2(x')} \int_{-\infty}^{x'} [\hat{h}(x'')f_n^{(1)}(x'') - E_n^{(2)}]\phi_n^2(x'') dx'' \quad (4)$$

$$\begin{aligned}
 E_n^{(k)} &= \int_{-\infty}^{\infty} \left\{ \hat{h}(x) f_n^{(k-1)}(x) - \sum_{i=2}^{k-1} E_n^{(i)} f_n^{(k-i)}(x) \right\} \phi_n^2(x) dx \\
 &= \langle n | \hat{h} f_n^{(k-1)} | n \rangle - \sum_{i=2}^{k-1} E_n^{(i)} \langle n | f_n^{(k-i)} | n \rangle
 \end{aligned} \tag{5}$$

$$f_n^{(k)}(x) = \int^x \frac{dx'}{\phi_n^2(x')} \int_{-\infty}^{x'} \left\{ \hat{h}(x'') f_n^{(k-1)}(x'') - \sum_{i=2}^k E_n^{(i)} f_n^{(k-i)}(x'') \right\} \phi_n^2(x'') dx'' \tag{6}$$

where  $\phi_n(x) = \langle x | n \rangle$ ,  $\hat{h}(x) \equiv h(x) - E_n^{(1)}$  and  $E_n^{(1)} = \int_{-\infty}^{\infty} h(x) \phi_n^2(x) dx = \langle n | h | n \rangle$ .

In the series expansion (1),  $f_n^{(1)}(x)$  is *identical* to the Dalgarno-Lewis  $F_n$  function [6-9] (see for example [9, equation (21)]). Thus the approach of Kim and Sukhatme is very close to the Dalgarno-Lewis formalism.

Considering equations (3) and (5) (with  $k = 3, 4, \dots$ ) and summing these equations, one obtains

$$E_n - E_n^{(0)} - \lambda E_n^{(1)} = \langle n | \lambda \hat{h} (f_n - 1) | n \rangle - \langle n | f_n - 1 | n \rangle \{ E_n - E_n^{(0)} - \lambda E_n^{(1)} \}$$

i.e.

$$\begin{aligned}
 E_n &= E_n^{(0)} + \lambda E_n^{(1)} + \frac{\langle n | \lambda \hat{h} f_n | n \rangle}{\langle n | f_n | n \rangle} \\
 &= E_n^{(0)} + \lambda E_n^{(1)} + \frac{\langle n | \lambda \hat{h} (\lambda f_n^{(1)}(x) + \lambda^2 f_n^{(2)}(x) + \lambda^3 f_n^{(3)}(x) + \dots) | n \rangle}{1 + \langle n | \lambda f_n^{(1)}(x) + \lambda^2 f_n^{(2)}(x) + \lambda^3 f_n^{(3)}(x) + \dots | n \rangle}
 \end{aligned} \tag{7}$$

which is as expected since, assuming  $\langle n | f_n | n \rangle = \langle n | \Psi_n \rangle = 1$ , i.e. cross normalization, equation (7) reduces to

$$E_n = E_n^{(0)} + \lambda E_n^{(1)} + \langle E_n | \lambda \hat{h} | \Psi_n \rangle = \langle n | H | \Psi_n \rangle.$$

Integrating by parts, one can show that

$$\langle n | \hat{h} f_n^{(2)} | n \rangle = \langle n | f_n^{(1)} (\hat{h} f_n^{(1)} - E_n^{(2)}) | n \rangle \tag{8}$$

$$\langle n | \hat{h} f_n^{(3)} | n \rangle = \langle n | f_n^{(1)} (\hat{h} f_n^{(2)} - E_n^{(2)} f_n^{(1)} - E_n^{(3)}) | n \rangle \tag{9}$$

$$\langle n | \hat{h} f_n^{(k)} | n \rangle = \left\langle n \left| f_n^{(1)} \left( \hat{h} f_n^{(k-1)} - \sum_{i=2}^k E_n^{(i)} f_n^{(k-i)} \right) \right| n \right\rangle \tag{10}$$

etc. Thus the matrix elements of  $f_n^{(k)}$  which arise in the numerator of (7) can be expressed in terms of matrix elements of  $f_n^{(k-1)}$ .

For instance

$$\begin{aligned}
 E_n^{(3)} &= \langle n | \hat{h} f_n^{(2)} | n \rangle - E_n^{(2)} \langle n | f_n^{(1)} | n \rangle \\
 &= \langle n | f_n^{(1)} \hat{h} f_n^{(1)} | n \rangle - 2E_n^{(2)} \langle n | f_n^{(1)} | n \rangle
 \end{aligned}$$

$$\begin{aligned}
 E_n^{(4)} &= \langle n | \hat{h} f_n^{(3)} | n \rangle - E_n^{(2)} \langle n | f_n^{(2)} | n \rangle - E_n^{(3)} \langle n | f_n^{(1)} | n \rangle \\
 &= \langle n | f_n^{(1)} \hat{h} f_n^{(2)} | n \rangle - E_n^{(2)} \{ \langle n | f_n^{(2)} | n \rangle + \langle n | f_n^{(1)2} | n \rangle \} - 2E_n^{(3)} \langle n | f_n^{(1)} | n \rangle
 \end{aligned}$$

etc.

Adding equations (8)–(10) (with  $k = 4, 5, \dots$ ) and using (7) one obtains

$$E_n = E_n^{(0)} + \lambda E_n^{(1)} + \frac{\langle n | \lambda f_n^{(1)} \lambda \hat{h} f_n | n \rangle}{\langle n | f_n (1 + \lambda f_n^{(1)}) | n \rangle} \quad (11)$$

which suggests various approximations depending on how far one wishes to go in the  $f_n$  expansion (equation (1)).

The results, equations (7)–(11), may be looked upon as new results which supplement the derivations of Kim and Sukhatme.

Finally, Kim and Sukhatme use their techniques to investigate the  $n = 2$  state of an infinite square well potential

$$V(x) = \begin{cases} 0 & |x| \leq \frac{1}{2}\pi \\ \infty & |x| > \frac{1}{2}\pi \end{cases} \quad (12)$$

subject to a perturbation  $h(x) = Ax + B$ , and using equation (3) obtain

$$E_2^{(2)} = \frac{A^2}{36} \left( \frac{\pi^2}{12} - \frac{5}{36} \right). \quad (13)$$

Equating this result to the standard term by term second-order energy expansion for this state

$$E_2^{(2)} = \frac{\langle 2 | h | 1 \rangle^2}{3^2 - 2^2} + \frac{\langle 2 | h | 3 \rangle^2}{3^2 - 4^2} + \frac{\langle 2 | h | 5 \rangle^2}{3^2 - 5^2} + \dots \quad (14)$$

one obtains

$$\pi^2 \left( \frac{3\pi^2}{5} - 1 \right) = \frac{2^{12} 3^6}{5} \left\{ \frac{1^2}{(1 \times 5)^5} - \frac{2^2}{(1 \times 7)^5} - \frac{3^2}{(3 \times 9)^5} - \frac{4^2}{(5 \times 11)^5} - \dots \right\}$$

a quickly converging series relation (giving 5 digit agreement after five terms) which to the knowledge of the author is not quoted in the literature [10, 11].

The support of KFUPM in this work is acknowledged.

## References

- [1] Kim I W and Sukhatme U P 1992 *J. Phys. A: Math. Gen.* **25** L647
- [2] Aharonov Y and Au C K 1979 *Phys. Rev. Lett.* **42** 1582
- [3] Au C K and Aharonov Y 1979 *Phys. Rev. A* **20** 2245
- [4] Imbo T and Sukhatme U P 1984 *Am. J. Phys.* **52** 140
- [5] Au C K, Chan K L, Chow C K, Chu C S and Young K 1991 *J. Phys. A: Math. Gen.* **24** 3837
- [6] Dalgarno A and Lewis J T 1955 *Proc. R. Soc.* **233** 70
- [7] Schwartz C 1959 *Ann. Phys.* **2** 156
- [8] Schwartz C 1959 *Ann. Phys.* **2** 170
- [9] Mavromatis H A 1991 *Am. J. Phys.* **59** 738
- [10] Jolley L B W 1961 *Summation of Series* (New York: Dover) p 65
- [11] Gradshteyn I S and Ryzhik I M 1980 *Tables of Integrals, Series and Products* 4th edn (English) ed A Jeffrey (New York: Academic) p 7